Selected answers to practice question set 2


1.  a.  They currently have together 4 fish and 4 pounds of fruit.  They could have 4 fish and 5 pound of fruit (or 4 1/2, 4 1/2 or 5,4) by having Jean, with MCfish equal 1/2 fruit specialize in fish catching and Lynn with MCfish 1 fruit in fruit gathering.

    b.  Before Lynn's MC and MVfish 1 fruit, Jean's 1/2 fruit.  With specialization and trade expect a price between, e.g. 1 fish per 3/4 fruit.  Lynn will want more 

fish at the lower price, Jean will want less fish at the higher price.  (Recognize the complicating factors - a.  whole numbers - numerical answer, which I am not 

expecting, would be Lynn produce 0,5, consume 2 1/4, 3 5/16, Jean produce 4,0 consume 1 3/4, 1 11/16, b. income effects).

    c.  Jean has MCfish 2 pounds of fruit.  Pat has a comparative advantage in fruit production.  The price of fish will rise to something above just above 1 fruit.  

Lynn will switch to fish production but only be marginally better off than self sufficiency.

4.  a.  Prior to trading, Joan and Tim will both have selected their preferred production mix by equating their "opportunity to trade with nature" to their marginal value.  Joan will therefore have a marginal value of 4 oz berry per egg; Tim - 6 oz berries per egg.  Once meeting, an opportunity for trade at a  "price" between these marginal values will result, say 5 oz berries per egg.  

This price will then induce Joan to specialize in egg production trading for, rather than producing berries since she gets more berries trading with Tim than trading 

with nature.  Vice versa for Tim.

    b.  i. Yes - in the specialization and trade equilibrium the price of berries to Joan will be greater than 1 egg and she will trade until her marginal value 

equals that higher price, having relatively more eggs and less berries than prior to specialization.

    ii.  Yes - because of the gains from specialization and trade, Joan will find that the value of trading an hour of her leisure has risen which will induce an 

increase in her work hours. 

    c.  Yes.  Joan still has a comparative advantage in egg production.  The increased supply of berries from Pat will cause the price of eggs to rise benefiting Joan.

5.  It is correct that societies benefit from increased opportunities to trade which expand the opportunities to take advantage of comparative advantage.  However, with the expanded opportunities some who used to have a comparative advantage in a particular production activity, say log milling, (e.g., Tim in question 4) find that people in another country now may have that comparative advantage.  This information is given to them via the "outsiders" underpricing them (or not purchasing their services at their price.  The owners of the assets used in the US milling and the mill workers are therefore worse off from the expanded trade even though the total of the gains and losses for the country are necessarily positive.  The mill owners and mill workers are not interested in the welfare of the country but rather the welfare of its 

themselves.

6.  Essential point - self sufficiency is not a way to increase one's wealth.  If Mexico has a comparative advantage in food production (unlikely given the desert climate) then they should so specialize, becoming exporters rather than self sufficient.  I certainly expect some mention and understanding of comparative advantage and specialization.

7.  a.  False.  Mike has an absolute advantage over Kate in food production.  However Comparative Advantage concerns the foregone production opportunity not foregone leisure opportunity.  We are interested in the tradeoffs between food and clothing production for Mike and Kate.  Mike has a comparative advantage in food production if he gives up less clothing per unit of food produced than does Kate.

    b.  False.  The desired consumption of food given Kate's production "trading rate" (production possibilities) may be more than Mike alone can produce.  Hence Kate will also produce food.

    c.  I am looking for a sensible discussion of how this roundabout production opportunity will likely lead to Mike hiring some of Kate's time (employing Kate) and this requires Mike to become a capitalist (i.e., save to pay Kate a guaranteed wage.).

8.  a.  The identity of the losers is known; the identity of those who will get the new jobs in unidentified industry is not known.  Those potentially losing their comparative advantage will be screaming while the gainers will be silent.

    b.  The horizontal supply curve implies that any changes in cost will be fully reflected in prices.  Hence all gains from lower wages outside the US will be incorporated into "saving in clothing costs."  (Otherwise, we would also have to include the gains to the owners of  textiles companies.)  If the Textile workers next best opportunity is at a wage or opportunity cost above that of the foreign workers, then there loss will necessarily be less than the reduced cost by the difference in their opportunity cost and the foreign wage rate.  If their opportunity costs is less than the foreign wage, they will underbid the foreign workers and their jobs will not be lost.

9. The essential point here is to recognize that a government deficit creates a debt held by US citizens (except b) and payable by US citizens.

a.  False - every dollar someone must pay in future higher taxes (and therefore reduce their consumption when paid) is a dollar received by someone else available for increased consumption.

b.  True - the resources consumed currently by the government are effectively being provided by individuals outside our country.  The total product currently available for consumption therefore increases.

c.  True - by failing to correctly anticipate the increased future taxes required to pay the interest and the maturing debt, individuals view their government "bonds" as real savings, therefore saving less and consuming more..

d.  True in a sense if c. is true.  Real savings and investment falls.  Consumption today is higher, tomorrow lower.

10.  a.  T - the amount of goods available for consumption is greater than that produced by our resources.    b.  F - our workers should work where they have comparative advantages.  Of course, some workers may have lower wages than if they did not face foreign competition.  They can maintain their employment by taking a sufficient cut in their wage.  If they become unemployed it is because they have indicated a preference for a new comparative advantage even if that is consumption of leisure.

    c.  T - foreigners are acquiring dollar denominated assets, the real value of which falls with inflation.

    d.  T - the reclaiming of the debt raises demand when reclaimed which increases prices paid by consumers.  On average the higher prices are paid by those that were relatively young during the period of lower prices (when the trade deficit was occurring).

12.  This reasoning is faulty since the society that is incurring the taxes to pay the interest on the debt is the same as the society that is receiving the proceeds from the interest on the debt.  Hence a government deficit where the debt is held by the citizens is more like a family where a wife loans a significant sum to her husband - the net debt out of the family is zero and the interest is paid from one family member to another.

   Nice touch to discuss possible reductions in the capital stock or increases in the total government spending because of the failure of the citizens to fully incorporate the higher expected taxes that was implied to pay back the debt.
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a.  Yes - the value of corn to others is greater than his opportunity costs.  Since others value will incorporate their production opportunities, Johnny must have a lower opportunity costs.


b.  3.  Continue to grow if P > MC and P>AC (which is 4 at Q=2).


c.  a.  No (assuming others must also pay the license fee since Johnny's cost is greater than others).  b.  0  - Johnny's AC is everywhere above P.

14.  a.  Produce 3 making revenue of $12.30 with a cost of $12.

    b.  Produce 1, making an economic profit of 50 cents (and a minimal accounting loss of $3.50).

17.  The efficiencies of increased specialization made available from use of complex roundabout team production must imply that the value of these people's services as employees exceeds the value of their services as self employed plus the value to them of being their own boss.  I expect some implicit or explicit definition of roundabout (production of capital, machines, plans, or techniques that are not directly valuable but that lower the marginal cost of production) and team (working with others in ways where separate individual outputs are not definable) production.

19 The modern corporation allows the exploitation of the law of comparative advantage, of capital intensive roundabout production techniques and of extensive team production that increases substantially the product obtained from workers' efforts.  Use of this system typically requires that the workers' payments be separated from the success of the production techniques chosen, hence the workers receive input time based reimbursements.  Since the workers in a capitalist firm are guaranteed their wages (in the short run) regardless of their productivity, "bosses" must assume the role of monitoring, motivating and prodding the workers.  In a free society, workers will put up with their own "exploitation" only if this cost is offset by some other gain.  Some of the benefits of specialization must redound to the workers or they would quit and start their own business.

20.  Unless medical schools accepted and graduated more doctors, this proposal would simply be a subsidy to medical students or, it's important to notice, to medical schools who might thereby be enabled to raise their fees.  I expect (for a "top notch" score) mention of the concept of sunk costs (or by implication through a mention of opportunity costs).  The costs of education is not an opportunity cost of supplying medical services but rather of becoming a physician.  It therefore affects medical care prices only by affecting the number of physicians.

23.  Looking for 1.  distinction between sunk and marginal costs; 2.  distinction between marketwide increase in marginal costs and cost increase specific to single seller.

24.  A couple of points expected.  If foreign producers have comparative advantage in steel production ("cheap" meaning lower price), then allowing imports will lower price, benefiting American steel consumers.  American producers will be worse off and driven out of business if their minimum average costs is above the price after importation.  However, this will not reduce "supply" (shift the supply curve) and lower the price but rather simply represent a movement along the supply curve (with foreigners in it).

25.  `Obsolete' equipment continues to be used as long as its use generates more revenue than costs.  New equipment would generate more revenue; but unlike the equipment now in place, its acquisition would entail additional costs.  An airline replaces 727s with 767s when that is expected to enlarge its anticipated stream of net revenue (revenue minus cost).  While 727s "guzzle" fuel, 767s "guzzle" aluminum, labor and titanium (since 727s are made and 767s require sacrifice of resources to make).  A "bonus" comment - the price of 727s adjusts (falls) to the availability of the fuel efficient 767s.  In equilibrium, as the falls of 727s falls sufficiently, they will become "profitable" to use on shorter routes and as "spares".

26.  a.  The value of plastics increases even if the price to the toy makers does not.  This alone is sufficient to cause the increase in supply and the increase in price.

    b.  If the amount of plastic in a toy is fixed, then the revenue to toy makers rises and out of pocket costs go down (though opportunity costs may go up.)

    c.  You can't tell whether they will buy, sell, or keep the 85 percent.  At the new equilibrium opportunity cost of plastic, it is likely that a completely different efficient allocation (MVs equal) of plastic will exist, but without detailed information about various industries value of the marginal product schedules, we do not know about the expected changes.

28.  (A picture is sure helpful).  No effect, shifts demand down in terms of seller price by exactly the same as supply was shifted up (in terms of consumer price) when sellers paid.

1a-b  Ambiguous.  All kinds of things can happen depending upon the supply curve.  Easiest to see - make supply to Washington perfectly elastic (producers won't sell here unless they receive the same amount as available elsewhere).  Now it simply depends on the "elasticity" of a demand curve redefined with the horizontal supply curve as the axis.

32.  The important point to keep in mind is that equilibrium will occur by customers switching where they shop.  In equilibrium customers must be indifferent among the three stores.

    a.  We know Joe's store must have more people in it or it would be preferred.  If there is no problem with congestion in the aisles, then we expected about the same amount of time to shop, otherwise the extra congestion must be offset by some other benefit.

    b.  While Joe has higher expenses, he also has more customers or higher prices.  If people are different, Joe could be catering to a more affluent set of customers with shorter lines but higher prices.

    c.  All of these questions have ambiguous answers.  The point is simply to see if the students recognize the difficulties.  If the other stores have longer waiting 

lines, they will cater to customers that are doing big shoppings.

    d.  See a.

    e.  See b.

37. The "problem" here appears to be more video rental places than can be supported in the long run equilibrium.  This might have resulted from the entry of lower cost competitors, "mistakes" in going into this business, or simply a change in the market demand.

    The required long run adjustment is the redeployment of resources with some resources leaving the video rental business (going out of business by some of the rental stores).  As the weakest (highest cost, lowest demand) stores go out of business (as more costs become opportunity costs, e.g., the lease comes up for renewal, another job or business is identified), supply will fall and the new long run equilibrium will be established.

    Prices carry information on the socially best allocation of resources.  Consumers assist this information flow by purchasing from the sellers offering the best deal (price, service, location).  This rewards those who best allocate the resources.  If a particular proprietor can not offer you the best deal given the 

competitive offers, he should find where else his comparative advantage lies (since its not in this business or location).

38.  This is a result of the "Second Law(s) of demand and supply.  Immediately there is little responsiveness of suppliers or demanders to a price change and hence quantity bought and sold doesn't change much because of the tax and therefore the tax raised is almost the initial quantity times 50 cents per gallon.  As suppliers and demanders have more time to adjust (e.g., suppliers - emphasizing sales in other states, shifting their refinery mix to other products; demanders - taking the bus, moving closer to work and play, ride sharing, buying more gas efficient cars, buying diesel cars) the increased 

elasticity of supply and demand will lead to greater reductions in the amount of gas bought and sold and hence to lower government revenue from a tax per gallon.

39. Look for the proper shifts and slope changes and be generous.  (Someone could say all this correctly in words - give credit)   Increase in price electricity -> increases demand for wood -> increases P (given SR supply).  Increase response time Demand  two factors adjustment to high electricity prices (buy wood stove ect.) will cause additional shift out in demand for wood; adjustment to high wood prices will cause reduced elasticity as initial demand.  Supply -  more straight forward - increased response by current suppliers and entry into business.

40. a.  No - it indicates specialization and different opportunity costs of production.

      b.  By restricting supply, the price will increase.  This will cause the quantity supplied from domestic stocks to increase.  Hence, in that sense, conservation will be reduced.

      c.  Like other supply, the supply of oil reserves is upward sloping.  The greater the price, the greater the search for new fields and the greater is the efficient recovery from existing fields.  Since the 1930s, the price of oil has risen substantially and the resulting increases in discovery and expected recovery has much more than offset the depletion of the "known" reserves at each point in time. 

41. A.  No.  It is the percentage premium of the present over the future.  The price of money (one dollar) is, for example, 2 cokes, or $1.10 paid next year, or...

      B.  If the interest rate goes up, the premium the present has over the future goes up, so the price of current consumption in terms of foregone future consumption rises (think of buying a car - the payments - foregone future consumption - rise.)

      C.   Yes, a dollar should buy less cokes.  You usually call this "inflation".  The interest rate is affected since it includes an expectation of the rate of inflation.  If the real premium is ten percent and inflation expected to be five percent, the interest rate will be about fifteen percent.

42.  Since the baseball player income occurs "sooner" than that of being a teacher, the present value of the baseball income will be higher than that of the teacher at all interest rates.  However, at very low interest rates, the MBA income will have a higher present value than that of the baseball player, and at very high interest rates the present value of the income as a teacher can exceed that of getting an MBA. Hence the possible rankings are:

a.  MBA, BB, teacher.

b.  BB, MBA, teacher.

c.  BB, teacher, MBA.

43.     
a.   T.  By waiting to year 8, the owner makes 9 percent return in the 8th year.  Would be better off cutting in year 7 and investing the proceeds at 10 percent.

    
b.   T.  An interest rate equal to or less than 9 would imply the best time to cut is year 8.

    
c.  Uncertain.  The site may have become more valuable because the present value of its use as a tree farm went up.  Since you are given the value of the tree(s), this could happen only because the interest rate fell.  If so, see b.  Alternatively, the price of the most valuable other "good" (apartments, park land,?) that can be produced on the site may have risen.  If achieving the return from this alternative requires cutting the tree, the difference in returns will be compared to the cost of cutting the tree early.

d.  F,  The tree will be cut as soon as it has value (year 3) since the only way to capture the value is to cut.

44.
a.  A decrease in the interest rate lowers the premium of the present over the future.  It therefore lowers the "cost of waiting."  This will increase the relative demand for goods whose benefits occur in the future.  The absolute price of both should rise.  The effect should be greater for the scotch as its benefits are further in the future.

b.  The mature whiskey is a "present good".  If anything its price should fall as people generally switch to things with future benefits.  The scotch however continues to improve.  Its price at a point in time reflects in part the present value of future consumption.  The decrease in the interest rate therefore increases its current value as per a.

47  a.  Both have future benefits that are discounted to get the current "value".  Hence both will fall in value.  The 1995 cars have a longer expected future flow of benefits as compared to a 1985 car.  Therefore the 1995 cars will show a relative greater decrease in value.  (Of course the new car producer can "absorb" the shift in demand by cutting back supply.)

 b.       
The costs of duplicating this good (by holding a Port for forty years) has increased.  If there is any temporal substitution (giving up some future Port drinking to drink now), the demand and value of this Port will rise.  We also expect it to be consumed quicker within its ten year peak since the present value of the future benefits of holding have fallen

c.  The value of a share of stock in Lumber Company should equal the present value of the expected future profits.  The lumber in inventory will go up in value (since the future production of lumber by growing trees has been more expensive).  However the value of the half grown trees will likely fall (this is a tough one - since the value of lumber in twenty years will be greater but the interest effect causes a fall in present values).  Hence ambiguous.  Grade easy.

49.  Tom Shane (our advertiser) does not eliminate the middleman rather he is the middleman.  He does not therefore save the costs of middlemen; he incurs these costs.  The Law of Comparative Advantage suggests that costs will be minimized by his specializing in the activity, either retailing or middleman, in which he has a comparative advantage.  Hence we should expect that his costs are higher than other jewelers who so specialize taking full advantage of the Law of Comparative Advantage.  Finally, even if he did have lower costs, we do not expect him to pass them on to the consumers.

51.  Two approaches obvious - 1.  a question about efficient markets.  If the experts in diamonds and diamond markets believe the prices will rise ignificantly in the near future, they increase their demand now driving up the price now.  The current price already reflects the best information available to the experts.  2.  the supply of diamonds is a result of hundreds of years of mining.  A change in the costs of additional mining will affect the price of industrial diamonds (used up in production) but have trivial impact in the jewelry diamond market.  Finally, why would Tom Shane not hoard diamonds and get rich if he truly believed this (become a speculator)?

53. 
a.  The speculator will act on the information by buying coffee futures until their price is bid up to the speculators expected future price.  This will cause coffee merchants to store more coffee because of the higher value of future coffee (sell futures).  Current prices will rise and I will consume less coffee now.

  
b.  Assuming the speculator is right, I will consume less now but more later and the prices will be approximately equal (there is an interest rate phenomena here.  Give bonus points if recognized.)  The value of the increased future consumption will be greater than the reduced current consumption since the future price and marginal value would have exceeded the present price and marginal value.   (A picture makes this easy.)

  
c.  If the speculator believed the information to still be valuable, that is, not yet reflected in prices, the speculator would be buying futures and not broadcasting the information.  There is no reason for you to change your behavior since your behavior was already based on prices that included the information

55.  
a.  F.  Typically we would not elect the same exact technology today as that selected in the past.  Therefore, the cost of replicating the firm's assets is irrelevant to the value of the firm.

    
b.  T.  See a.

56.  Since the retirement was "unexpected" the current stock price should not include this information in the price.  Assuming Mr. Boss is a positive factor in Boss Company, we expect some diminution of expected profits post retirement and therefore some reduction in the current stock price.  As time moves forward and the period of reduced expected profits gets closer, the effect will be larger (the present value of the change increases).  The second fact, the increasing interest rate compounds these effects.  There will be an immediate decrease in the stock price since the present value of the future expected profits fall.  As time moves forward and the interest climbs, the stock price will continue to fall.

57.  The futures market is where contracts for future delivery of products at prices paid then but agreed on now are transacted.  The experts in predicting future gasoline prices will buy or sell such contracts if they believe the actual future price will differ from the futures contract price.  Hence the futures price settles at the level where the "speculators" expert in gasoline markets and information believe the actual price will be.  The casual investor with no inside information is therefore betting against people with far better information.  Such a fool is soon parted from his money.

58.  a.  Likely a Price Taker but my interest is in the students' understanding of the relevant factors.  Screws, nuts and bolts are relatively homogeneous goods with lots of sellers.  Ernst Hardware and other wholesale buyers are likely to have good information about the prices of alternative sellers such that a seller whose price is a little higher than its competitor will sell no screws (i.e., face a perfectly elastic demand.)

     b.  Ernst customers are buying a small quantity, usually a few dollars worth at most.  They therefore do not have the incentive to become informed of alternative prices.  In addition, Ernst is usually located a couple miles from other hardware stores so even if their price is known to be a little different than their competition, many customers do not change their preferred store.  Thus customers are choosing from a few alternatives, with heterogeneous products (includes location) and incomplete information.  A small increase in price does not lead to loss of all business - Ernst faces a downward sloping demand.  They are a price searcher.

      c.  There will be competition in both markets and the same incentive to enter if the profit is available.  If the sellers in each market have the same costs as other sellers in their market, in equilibrium each should earn its opportunity cost.  (Bonus - any economic profit will result from superiority in production, i.e., lower costs than the competition.  These rents from lower costs will be equally available in either market type.)

61.  They, like a price taker, can charge any price they want (after all this is a free country).  But they may not sell any; or they may not sell a profitable or most profitable quantity.  C. and D. are correct.

62.  b.  True fewer sellers.  d.  False - differentiated products, difficult to agree since competition is typically on dimensions other than price (e.g., product image).  

64.  All questions concern price discrimination.  Look for some understanding that the seller would like to charge the more (less) responsive buyers a lower (higher) price and that the indicated practices may use another variable to identify or proxy for elasticity.

c.  people that "shoppers" are more likely to save and use the coupons.  These are likely the same people that will switch brands with a lower price (i.e., more responsive.)

b.  some people will go through the jars looking for jars that are lower priced others will just grab.  If the lookers are those who respond more to price cuts (e.g., will buy two jars of low marked coffee), price discrimination is accomplished.

d.  If parent's income is related inversely to elasticity (remember that a "higher" linear demand is less elastic), then this will effectively allow schools to charge higher prices to the richer kids

67.  a.  Price affects the seller's quantity demanded in a significant way.  Therefore, the seller can not "take the price" but rather must search for the best price.

    b.  By setting a price of $2.00, the proprietor can make $1600 selling sandwiches.  But the opportunity cost is $2000, hence the best action is to give up the space 

and be a pizza chef.

    c.  The best prices are $2.00 to the students and $3.50 to the hospital patients (look for some evidence of the profit calculation).  Hence set a sandwich price of 

$2.00 and a $1.50 for delivery.
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